
 

 

 
 

 
 
 

 
 

 
 

Hydraulic Cylinders 

NXM Series 
(ISO 6020/2) 

 

INSTALLATION AND MAINTENANCE MANUAL 

 

 

 

 
 

 

 

 

 

 
Edition 08/2024 

 



 
 

 

2 
 

 

INDEX 
TECHNICAL FEATURES ......................................................................................... 3 
GENERAL DESIGN FEATURES ................................................................................ 4 
INSTALLATION .................................................................................................... 5 
STANDARD MAINTENANCE .................................................................................... 5 

SEALS ............................................................................................................ 5 
1st group: piston-seals replacing ........................................................................ 5 
2nd group: bushing-seals replacing ..................................................................... 6 
3rd group: cylinder assembling with tube seals ..................................................... 6 
4th group: cushion screw seal replacing ............................................................... 7 
5th group: bypass screw seal replacing ................................................................ 7 

SPECIAL MAINTENANCE ....................................................................................... 7 
ASSEMBLY TOOLS ............................................................................................... 8 

 
 

 
 

 
 
 

 

  



 
 

 

3 
 

 

TECHNICAL FEATURES 

 

 
• Heavy duty metric hydraulic cylinder 
• Nominal pressure:   160bar 

• Test pressure:    240bar 
• In accordance with ISO6020/2 (1991), DIN24554 standards 

• Security factor 4:1 at nominal pressure and with reference to min. breaking point 
• Hydraulic mineral oil 
• Standard seals from   -20°C to +80°C. 

• High temperature seals up to  150°C  
• Construction:    tie-rod design 

• Bore sizes:     25 to 200m 
• Piston rod diameters:   12 to 140mm  
• Cushions:     adjustable and available on both ends 

• Chromium plated rod, polished tube. 

 
 
 

   



 
 

 

4 
 

 

 

GENERAL DESIGN FEATURES 

 

 

  



 
 

 

5 
 

INSTALLATION 

 

 
 

• Remove the hydraulic cylinder packaging. 
• Make sure that the hydraulic cylinder and isn’t damaged during transport. 
• Make sure that hydraulic system is without pressure. 

• Remove the protective screw caps.  
• Filling hydraulic cylinders (horizontal position) with hydraulic oil and bleed it.  

• Connect the hydraulic ports 
• Commissioning the cylinder 
• Adjust the cushioning: 

 
Turn, clockwise to increase and anticlockwise to decrease the cushion, the screw  

 
 

that is under the label of cushioning.                       
 

 

STANDARD MAINTENANCE 

SEALS 

1st group: piston-seals replacing 
 

STEP INSTRUCTIONS  

110 
Make sure that the rod is free from either 

burr or machining scraps 

 

120 

Clamp the piston-rod group in a vice 

using exclusively brass or aluminium 
claws  

130 
Remove the old external seals and guide 
ring 

140 
Lubricate the piston grooves using either 
grease or hydraulic oil 

 

150 
Insert the new seal and the new guide 

ring. 

 
  



 
 

 

6 
 

2nd group: bushing-seals replacing 
 

STEP INSTRUCTIONS  

210 Place the bushing on a workbench 

 

220 Remove the old seals 

230 
Lubricate the bushing inner grooves 

using either grease or hydraulic oil 

240 

Insert the rod wiper, then the rod seal 

and, if there was, the rod seal washer. 
Finally, insert the outer O-Ring 

 
 

3rd group: cylinder assembling with tube seals 

 
STEP INSTRUCTIONS  

310 
Place the rear head on a workbench. First 
insert the O-ring, and then insert vertically 

the cylinder tube (see 10a) 

 

320 

Place the rod-piston group assembly tool on 

the cylinder tube (see 10a) 
Lubricate the assembly tool using either 

grease or hydraulic oil 
Insert the rod-piston group 

330 
Insert the front head on the tube, paying 

attention at position of its O-ring 

340 

Place the bushing assembly tool on the 
piston rod. 
Lubricate the assembly tool using either 

grease or hydraulic oil 
Insert the bushing-seals group 

 

350 

Insert the retainer plate, then place the 

cylinder in a horizontal position 
Insert the tie rods together with their nuts 
and washers 

Tighten with a dynamometric spanner 
See page 8 for TORQUE VALUE REFERENCE 

CHART 

 

  



 
 

 

7 
 

 

4th group: cushion screw seal replacing 
 

STEP INSTRUCTIONS  

410 Remove cushion label 
 

 
 

420 Unscrew the cushion screw 

430 Remove the O-ring 

440 
Lubricate the groove using either grease or 

hydraulic oil 

 

 
 

450 Insert the new O-ring 

 

 

5th group: bypass screw seal replacing 

 

STEP INSTRUCTIONS  

510 Remove bypass label  

 
 

520 Unscrew the cushion screw 

530 Remove the O-ring 

540 
Lubricate the groove using either grease or 

hydraulic oil 

 

 
 

550 Insert the new O-ring 

 
 

SPECIAL MAINTENANCE 
 

For special maintenance contact directly the Nexoil srl  
  



 
 

 

8 
 

 

 

TORQUE VALUE REFERENCE CHART 

 Bore Tie rod nuts torque (Nm) Tie rod nuts thread 

1 25 6 M5 

2 32 10.4 M6 

3 40 26 M8x1 

4 50 90.6 M12x1.25 

5 63 90.6 M12x1.25 

6 80 214 M16x1.5 

7 100 214 M16x1.5 

8 125 571 M22x1.5 

9 160 1070 M27x2 

10 200 1480 M30x2 

 
 

ASSEMBLY TOOLS  

 
 

INVITATION TOOL (for piston rod) 

 Bore Standard 

 

1 25 2KINVS25 

2 32 2KINVS32 

3 40 2KINVS40 

4 50 2KINVS50 

5 63 2KINVS63 

6 80 2KINVS80 

7 100 2KINVS100 

8 125 2KINVS125 

9 160 2KINVS160 

10 200 2KINVS200 
 
 
 
  



 
 

 

9 
 

 
 

INVITATION TOOL (for bushing) 

 Rod Standard 

 

1 12 2KINVB12 

2 14 2KINVB14 

3 18 2KINVB18 

4 22 2KINVB22 

5 28 2KINVB28 

6 36 2KINVB36 

7 45 2KINVB45 

8 56 2KINVB56 

9 70 2KINVB70 

10 90 2KINVB90 

11 110 2KINVB110 

12 140 2KINVB140 
 
 
 

INVITATION TOOL (for rod-piston group) 

 Bore Standard 

 

1 25 2KINVP25 

2 32 2KINVP32 

3 40 2KINVP40 

4 50 2KINVP50 

5 63 2KINVP63 

6 80 2KINVP80 

7 100 2KINVP100 

8 125 2KINVP125 

9 160 2KINVP160 

10 200 2KINVP200 

 
 

 

ASSEMBLY TOOL (for rod-piston group) 

 Bore Pin Nut & Collar Complete tool 

 

1 25 2KPERNO25 2KDADO25 2KATTR25 

2 32 2KPERNO32 2KDADO32 2KATTR32 

3 40 2KPERNO40 2KDADO40 2KATTR40 

4 50 2KPERNO50 2KDADO50 2KATTR50 

5 63 2KPERNO63 2KDADO63 2KATTR63 

6 80 2KPERNO80 2KDADO80 2KATTR80 

7 100 2KPERNO100 2KDADO100 2KATTR100 

8 125 2KPERNO125 2KDADO125 2KATTR125 

9 160 2KPERNO160 2KDADO160 2KATTR160 

10 200 2KPERNO200 2KDADO200 2KATTR200 

 

 
 
 

 
 



 
 

 

 

 
 

 
 
 

 
 

 
 

 

Nexoil s.r.l.  
Sede legale ed amministrativa  

Headquarters 
Via per Fagnano, 27 - 21052 Busto Arsizio (VA) 

Tel. +39 0331 636390 Fax +39 0331 635860 
 

Unità produttiva, commerciale e tecnica  

Production, Sales and Technical Dept.s 
Corso Moncenisio, 2 - 10090 Rosta (TO) 

Tel. +39 011 9342434 Fax +39 011 9370532 
 
 

 

www.nexoil.it 
 
 
 

 
 

 
 
 

 
 

 
 
 
 

This manual is the property of NEXOIL srl. 

 

The NEXOIL reserves the right to make changes, at any time and without prior notice, for 

technical and commercial reasons. 

 

Reproduction of any part of this manual is forbidden by law without the written permission of 

the NEXOIL srl. 

Copyright © 2024 by NEXOIL srl. 


